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AT 339

o FHYI GEFAIT TI&TT Fa-g Iq SHT FoH 19 TSI FlRar i |
o Y GEEGT TGV Fa-g Iq SHHT T 18 JGET: JHI: Eid |
o  IHAGI] §d JoT HHTg: AT AGHT: |

o I JIIF TS 15 A [FERar: @i~ | 3T 3ael Hae FeT97 ST
ITHYIETHT & 817 T AGHTg |

ST o777 TR GUST: Tl —

@US: ‘&’ — STIGT-FT YT - 10 37gT:
GUe: ‘@’° — TTHIHF-BIIY - 15 37T
Gus: ‘7’ — Y FT-SATHIH — 20 73T
gus: ‘g’ - [ 9iea-s7EEigTy ~ 25 gT:

II. GEFT-Te@AERT-IR=TT: — 10 ST

() 3T F797 Fear: GUST: Gl |

(i)  FF GUSY ST FTIN THIGT T HHT GG |
(iii)  FOTGCI] FITTAGERY STvTHT AGH T |

(iv) &I FHAH IR GEHAT AGH T |

(v) I 3590 €T ST YT |
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EXE

B
T uE: ‘&’
CRICLICEIBED
Aufed-sraaied

Unseen Passage

ARG TITST fSeal TEqIHM, I FEhad fof@d |
frferfaa mems st ggeRt T Tl W I Thd H ST |

Read the following passage and answer the given questions in Sanskrit.

T EY amiie: It | WS T s i wafa | wgsnn sesesin

10 3T

Td U §ES ;T ST HaTd, qave SIS Jdieel Jieequl watd |
JEHTH Iy IUCH — Teaed Haged ¥ ol THH JHa || 31 3R
ity A aq a9 wd S fuferean T, fufelear weeaor agg, @d
WER =], T Y001 FAER Wod | ISee i — o aggen qaifr
frenfor wfier’, s1afq 18 wafq SMM BftwEs v st | gty famen: e
T WO | EArag TTeAA: Fideherd ST=RY 7 Shaedd | AT WG U1 HHTS:
Tq SIS 3 weAd | AN e qiuehried: T faermfd awi Sfeey v
9= HeId | Td Yo Ged:” e STEHTRY Ie3d A |

qIAT:
(37)

TehUeH ITd | (Shaet TG
T Weg § IR SN | (A Q)

Answer in one word. (Only two questions)

(1) W:W:W‘Jﬁ?

(i) T8 TN T WA IR=ITY 2

(iil) I HTeHA: fhe foh = ey ?
JUIETRM 3T | (had TegaH)

U I IR T | (had g1 T

Answer in a complete sentence. (Only two questions)
(i) TSI EeIagRul foh foh wafd ?

(i) AT oy fery 3ufesey ?

(iii) <hST oA &= HeAd ?

Page 3 of 19
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()

(3)

EVE
=

T Tt Sferd v HeR R |

39 Tenw w1 3fud fide wepa ¥ fafaw |

Write a suitable title for this passage in Sanskrit.
JATHEIM 3T | (had T

fdeTgER I Y | (e T Te)

Answer as directed. (Only three questions)

(i) ‘T st 9ee 3fa vt e |

(a) EII9AT

(b) T

(c) W&

(d) e,

i) el g voe S fwdard foga |

(a) HeIGEH

(b) AT

(c) Hﬁ%ﬁqﬁl

(d) dTdaraIo™

IN

(iii) ‘ad Tferean et geq’ 3= e fshamag fohm 2
(a) W&

(b) Tofecan
(¢c) dgd
(d) TR

(iv) ‘“gatfor 3fd qeea 3fud fassrug faga |
(a) fommfor

(b) A
(c) AT
(A =g

Page 4 of 19
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EVE
=

s ‘@
TEATCHSR- R 15 3T
TR - T
Writing Skills

vacT: foemed TSI anffeicad ‘FRfia-fasa:’ sfa axhaaess wad
wiosafa | srfemem wued fafed femms wesura: gerf foean femeamr
7@d 9 9 g foreq |

3Teh fqame™ # I 8 Tl aTfyehicad # PRATA-fos™:” A 9%k
ATeeh I oad B | 39 O R i 1 fo@ fm=vras # weem ¥ fou e
vieal @ T Tl i gfd ek o B g fafe |

On the annual day of your school a performance of a Sanskrit Drama is to

take place. In an invitation letter written to your friend, fill in the blanks

with words given in the box and rewrite the same. 1 OXé =5
i =l (i) !
A (id) |
3 HIA (iid) | STEHTH (iv) IR EAR CAC LR R E]

ARSI | o ‘wRiEfesy:” 9m Aess 7Ed B (v) |
gy aftere vt it feefe | sl e Arews wfafe

vi) ____ Thaa | @9 wdEes gRa @ (vid)
IUTTSI | Tagae O TaTIHT 3 (viii) | afEr T
Tq YOS (ix) |
GERERESICH
(x)

ST

Ty, e |, qaiee:, S, geT, ST, e,
0., TR, fegrn |

Page 5 of 19 P.T.0.
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EVE

=

(%) TEICTRISEHT TR ARG AR ReraeamT- R
el H: foreq |
T[T § CU T vegi <l g € A= foEt dgeeen # e TuH Wi
ATl IA: TARaT |
Complete the blanks of the following short story, with the help of
the words given in the box below and rewrite the same. 1 OXE =5
Tehel Teh: TS (1) Qd Hah™ Tl 31Eeq — o8 Tag, &+
gy (i) AT | Haeh: Hoid I9HA, 95 (iii)
fufetear o= g1 we™ (iv) , W=g Isfu |y aferm v A

Teida | W Fas Uid: I T e d TE EH (v)
yTfefded: | ¥aeh: 3aeq — Tag &4 q Ay wa foaigq sesfa owmms

~vi) | Ife I=E: S cQy dfe ‘TS (vii)
wersafa” 3fd | 7= ¥: T TF: (viii) I, F19ed 9 —
T 1A "ga: 9 oF T s, I 99 $esfd d (ix) |
Hﬁlgﬂ‘ﬁ%: m?wﬁqaﬁqmgw (%) oI
3T |

HSHT

fodl, emqum, @TEd, WgH, ST, TS, Hg:, 9HM,
ST, HIEE: |

31|t (OR)
AefIRaad-garg femeem i w@d |
Freafafeaa garg o fea v vftw |
Fill in the blanks in the conversation. 5x1=5
Ao — o | S TR, uq 3T TuTEel TG-S
S el T ?
[ — ) |
HAeor — TEaAdiad: e 7E gafd ?
[y — (i) |

Page 6 of 19
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_ STTEHTHE i e wafd ?
— (iid) |

—  Yougul-feTesh YamH= 9 foh U 2

(iv) |
—  SAARIEIH=R foh TaMH o TitgasH, 1Y Fwaraatd ?
— W) |

— JYUHS e ey Yot foemrafawd, wenfaw,
faeerifa-fowa 3y = fawy &1fY wafammo wedifar |

S A
|

FrafRaqaTeRy Sy gow aEHT §Ehdd 311G $Hed |
frefefiad arerit § @ foredl g aTerll 61 &hd | TG HINT |
Translate any five sentences in Sanskrit from the following sentences. 5x1=5

(i)  TIRE Q& vgar g |

Gaurav reads books.

(i)  Toreres B * FEHR <A1 7 |

The teacher gives a prize to the student.

(iii)  HIeRT FER ST 2 |
Monika goes to the market.

Gv) # o fo=med S |

I will go to the school tomorrow.

(v) & vaar & @re mo |
Ruchi will sing with Shweta.

(vi) hd UdER AT |

Yesterday was Sunday.

Page 7 of 19 P.T.0.
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EVE
=

Qs ar
TR - TR 20 7T
I -SATHT
Applied Grammar

srefaRadarely tErfgaueH af-aeag afs a1 $%d | (SICHY haery)
freferfaa amert # Wafga ugi it aftesg sremn af HfT | (Fad ©: w9)

Disjoin or join sandhis in the underlined words of the following
sentences. (Only six questions) 6x1=6

(i)  JGHTA TERIS~Aaley ST |
(i) T | M Wead |

(iii)  aTeeh MR AT dcaoT |
(iv) G- | 98 + JaFaw, T |

(v) I Hasl eI + 9 |

(vi) GIHEITHTd: | gaedre |

(vil) &wiq 7 THfGaed |

SrfRadaTeRly WifgaueqT 3fud guedug foug 9@ a1 Jeafaeheds faa |
(had TRIIHRY)

frfaifga sl § TaETfea val &1 3fa aned 9g a1 3fud foue I i wed
faehedt & T | (shad 9i= W)

Select the appropriate expound for the underlined words “Trreque’ or ‘faug

T of the following sentences. (Only five questions) 5x1=5
(1) Tdg 3JMETH

(a) 1 TMEAY (b) I ITEAY

() METHT YT (d)  =MMEAH A

Page 8 of 19
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(i1)

(iii)

(iv)

(v)

EVE
=

ﬁﬁq:m@ﬁwma:ml

(a) SATHRHGII:

(b)  STRREGRISI

(c)  SHAThHGRIAT

(d) SATHRIFTEE:

Tq TormTy s=am 3Mfdshe 9= |
(a) TSR

(b) II=SH

(c) FI=D

(b) g,
© ddFTTEa
(d) e |
de] TooHd e Ul = gu=iRg Tfrsa: |

(a) a4 fyar = (b) HE@I T g

(¢ T =foar= (@) @ = e =

Page 9 of 19 P.T.0.
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(vi) I qreafy Aifesy sfa srmfemife: |
(a) e femifea:
(b)  STHIq femifea:
(c) s fermifea:
(d) I femfgar:

siffaray  tafgae i dEtd ffd @ e
yedfashedsd: o | (hadl TeINCH)

frforfaa st # Yenfed val % Swgaa wgea st feverd wpfa e iU gu
foshedt § 9 gHT | (Fad B: TH)

From the given sentences, choose the correct combination of joint or

disjoint set of suffix for the underlined words. (Only six questions) 6x1=6

(i)  hIUIfcTeh: 37aeq T ! |1 At |
(a) YAl + 3% (b) MU + 3%

(¢) U + 3% (d) U +AGY

(i) oI |9 99 + T |
(a) rckedH (b) afcaem
(c) SFAGH (d) afefem

Page 10 of 19
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(iii)

(iv)

(v)

(vi)

EVE
=

3 + 39 (38) + 3q AN Feas: ISl o+ Fqar |

(a) A=SHM:
(b) A=
() s
(d) e

WIS gageeiiae: g g |
(a) ®AE +3

(b) &IE +HJY

(© FIE +¥

(d) &8+
SR CRCIEEEIIECHE R COREC Sl
(@) T +9d_+ &ddg

(b) ™ +9d +d=q
) ™ +9d +Fd

@ HM+9d+aq

Tl TS W@y Hieal d gsea™ |
(@) T+ (b)
() T=® + Fqdq (d)

Page 11 of 19
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(vii) AAfdsafe agr it wa |
(a) TERIR + 1Y (b) IR + ok
(c) THIHT + 21 (d) TR +3q

T fay Iuve-favfeaesy faga | (hat Je=em)
39 ITe-fawfed €9 o1 T | (had @ T9)

Choose the appropriate subordinate clause form. (Only three questions) 3x1=3

i 9 vHfeded |

(a) ¥ (b) TRH

(¢ T d) ¥
(i) TWagad "W I |

(a) a4 (b)  TIH

(¢) dd (d)  g=H
(iii) o Afpcd Haal o fo=m: ?

(a) E&TEHH (b) T

(c) TTHHAH (d) TErdHETn
(iv) I HY 39 ?

(a) W&, (b)  HrRA

(c) HIEW, d) HEE

Page 12 of 19
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EVE
=

Que: v’
(i) ufsamEaiaTq
gfea-sraaieq

Reading Comprehension

JIfIRad et JfScan qEremiaH T, J%had o |

frfaiRaa e it ggeRt 39 W TG WAl % I FEhd H QT |

25 3T

Read the following prose passage and answer the questions based on
them in Sanskrit.

IS 39 JeuTHhvd Hiudl TS UTE — o 90 dAaehist, T Tchead =
g Taee | A IeaSt: TSI qTeH it Aeal of 99d | - Afosd
FeEUS: IS 1 Toed T o Aiqa™ | 9 ST AT [Tt Wiz fRAfd
JEEUS H{YAAH qgaa: RFHIA Jeos: T A FadH, IAUq TeHrTed Wil
TER ! i @ | g9 HEmEI WSS T SRRl TSWeH el
FeESI TS T8 — HHaT Feiese aeameamiid |

q94T:

(31)

TehUeH 3T | (Shadd TeIgaH)

T 3eg § I AT | (Sheaed & T9H)

Answer in one word. (Only two questions)

(i) & FEERYY HUal TS ITE ?

(i) IcETS: & 1 o W faar ?
(iii) =T AT T ?
JUIETRA 3T | (had TegaH)

QUi AT H IR AR | (e &1 Tw)

Answer in a complete sentence. (Only two questions)

(i) OIS SeTHhvd Hival T o 18 ?

(i) TCHUST: WIS Y WY ?

(iii) TSI9eE Tedl IeEST: Tl Tk 18 2

Page 13 of 19
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EVE
=

TG I | (had TgIH)
frdemgEm 3w & | (Faat & )

Answer as directed. (Only two questions)

(1) ‘wea’ 3 vew foetmug foh sy ?
(i) ‘99F 3fd hATIEE Hqug e ?

(iii) ‘TeEIST: G 9 AN 3 T HaAHUG hel TYFH ?

AYITARGd T gfdcal AETETRAr, ST T&hdd 3T |

frfaRad oar =1 dgt 38 T eTitd Tt o ST HEhd H G |

2x1=2

Read the following poetry and answer the questions based on them in
Sanskrit.

TNY I GHEH TAW |
Frierd ohfcte g,

ShHh: hUZhSITAHT ||

Tshde 3T | (haet I¥gIH)
Teh 31eg § IR AT | (Sheaet & TH)

Answer in one word. (Only two questions)

(i) @AHMH %Y J: vafd ?

(i) @A HIgN: IA: TNy wafd ?
(iii) o: HUehHIATA e ?

QOISR 3T | (heret T gIH)
PUEIER ISR SN CE S RAR )
Answer in a complete sentence. (Only two questions)
(i) Tk fog=a @@ I@: gy wafd 2
(i) shHcTh: $F gfawa T Ferd 2
(ili) 9 GlorE <higel T ?
I, ITA | (had TegaH)
frdemgem s 4T | (F @ T)

Answer as directed. (Only two questions)
i) T st uee faemomg fog 2

(i) Ig 3fd v yafaug foh Sy ?
(i) oy’ 3 vew foeiag foh ey 2

Page 14 of 19
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EVE
=

AYITARGd AT Uldcal ATETRAT, JeH TEhad I |

fAfafaad Aresmy & dgeht 38 W AYTRA Te1 o I §&hd H SINT |

Read the following part of a drama and answer the questions based on it
in Sanskrit.

FUET — TEECHfHAl: Wedl IuCuEd  ATed wisfu orEekmn:,  dqrfu
TEeE: 7 wafd — Wl gdd 9t wdean Waded =@ | uar f2
griehmERIg I YR wd: TR wafa qen 7 wisfy o= |
wrgerdt faue=n Bt weea: | ufa: af wyd gy iR

TEHTRIT d, W Yo HTd HUEY S &l |

FTeET: — Agr: e go: gedan: AtEr: |
T — Fved | AgfiqerEl 9 ® yahd: | afe @ed: g, fen o=

srffoaee, I seHEa § TR |

FTETT: — TANVETHE SR | Tued O e I AU T I ? AgHEg
@ gl wiowfd 49 @uch | AgTEeed q cacdH wiesatd |
I Wifgg=ad = FHETHEHE-ER & aadrgee |

R
(3)

HTRAH e Uge = =R JagmE: |

TehUeH ITA | (Shadd T9IgaH)
T ITeg H IR T | (haet & )

Answer in one word. (Only two questions)
(i) dgU %: |1 Hwfd ?

(i) TRESd! it Shicert dTed: ?
(i) AAEFAT: @ HEAT: FEAN: AR ?

JUIETRA 3T | (had TegaH)
Ui AT | IR AR | (here &1 Tw)

Answer in a complete sentence. (Only two questions)

(i) omidemiagd vd: &1 aEi wafq 2
(i) SkaeasT: ACIEl uciifasy foh smefa 2
(iii) UcvTd Y <M o eEmfd 2

Page 15 of 19
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T 3T | (hadd TG
frdemgem I G | (Shae & o)

Answer as directed. (Only two questions)
‘gupa] 3fa ferswore forgrsag 6 ggeran 2
‘gury’ 3fd yewa faeimag 5 e 2
(i) ‘@reda:’ 3k fRATIEH Hgug b TgFH ?
eiffigas o wane Fesmieade: e g: fafed |
frfafaa wa &1 wraned wesw 4 fou gu wegi @ e g faflaw |

Rewrite the gist of the following verse by filling it with the help of
the words given in the box.

(1)
(i1)

TEhN 9 <4 w1 HiY T FiFaT: |
HHTCHIRGRY Tl SRR ||

wraret ;
gy 541 fheaggRy, SO, T ()

T=d: AN (i) 3 feord wm ufd (i)
; |
HosTut
oYY, I, WY |
a1t (OR)

YeayTaned-3amq Ig wrane faean foea |
few o i wrenet @ 31g wraned e fafE |

Write the correct essence from three essences of the following each

part.
(1)

‘N TeawmE:

(a)
(b)
(c)

Y AE: GG |
= W fawa: |
T Y FAfvaasuo syt e |

Page 16 of 19
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EVE

=
(i) ‘TR R gt |
(a) 1 STARMHRA IMEAT Yool THYHE e =R |
(b) TR ST THLT I |
(c) HeITEeRT MR ATEH =R |
(iii) SEETAERISAATEARRTEd |
(a) IT=ME: 9 WeAfd |
(b) 3T &g UM |
(c) ST=E: 95 UTeficar ferem srqemfed |

AGTARIATATRET TG 3F-od R i & d |
Fafafiga vote & =9 # fearem wiw |

The prose-order rendering of the following verse is given, fill in the
blanks. 3x1=3

EEIEIRCERIBIC L I

T Ty fuaeeaEn seaet SR ||
A
g: (4) forraTgTTq 1&g weng AT (i) (STTElq) amEn
fUq: shaet (ii) (3ATE) |

F T IR @ SIS SR H8 Had e
‘® T % IR T @ T S AT o 91 e i

Match the sentences of column ‘& with the suitable sentences of
’ 1
column @ : 4><§=2

‘®’ Ty ‘@’ Ty
()  IAGE HHTT (
(i) WY 97 Wag TS (
(ifi) ~ omveE ®yadl & foen (@) o wreed weARed |
(3) AW @Av=asiaay ey |

) 9 o1 7] deand |

§) 14 dfaqeat |

(iv) ScHY HIT sy

Page 17 of 19 P.T.0.
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SfRadaTRy @ifgaaeH TaEHaR gH 1ef Fosra: foar fo@a |

EVE
=

frfafaa ame # TETfga 98 w1 TETIER g o7 Ao & gt ffEu |

Choose and write the appropriate meanings of the underlined words in

the following with the help of the words given in the box.

(i)

(i1)

(iii)

(iv)

HTEeATed el Hel I =01 WAl |

Teehd HTITIRAT A AT |

HGTAT = HEMd: HagAShRyd! Td: |

IrSiol S 9T |

LA AL
TS, oM, TH:, ST |

(ii) FEHAAT e AR
HEhd AIEcd 1 A TREd

General Introduction to Sanskrit Literature

axt=2
2

10 HST:

TR hd: 1 TG W Hoo[WI-ed YegHT TgrIa Faraeemy forad | (hadt
I
Hoqm W fou MU wedl A WAl @ ek TUE R TR AYGT g w1 AW

ffau | (et dF I9)
Write the appropriate name of the book or poet in the blanks with the

help of the words provided in the box. (Only three questions)

(1)
(i1)
(iii)

(iv)

ST, 3fd IS HEATG ToTq T ?
IISTIe-e: e hol: TIHT AL ?

Cranfere F81 3fd 9Te: HE I RN 2
fiugrTaic F=orTd %: Ie: EEId: ?
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3x1=3



17.

18.

22

EVE
=

TE-9E-Tr R 9 fagmr aqfaa dftred wesmra: T fereemy fored |
(haet IR

GEehTe, TEehed Ud SRl i fauredi i fafvredr @i A9 € g
fereami § fafaw | (Faa & w)

Choose from the box the appropriate characteristics of the genres of epic,

prose, poetry and champoo poetry and write them in the blanks. (Only

three questions) 3x1=3
(i) TEEREI faueH _ wafd |
(i) UIghEAFAR®SE _ waEd |
(iii) &I Tl Fad |
(iv) =9l vE |
HSHT
TEYEHIY, TEehCA, WY, T |

eI ATUHhed Ffad W $Hed |

AreEIaRal @ YR W Fgfad firem Hifsre |

Make an appropriate comparison on the basis of the elements of Drama. 4x1=4
(E) (@.)

(i) EIHH AN fawrfd |

(i) A3 TagH: |

(iil) TR TR TYTE: SJFI: AfEd |

(iv) ‘ISHRH-aey Aehe e af=d |

Page 19 of 19



